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SECTION — A (Marks 15)

NOTE:- Section-A is compulsory . All parts of this section are to be answered on the question paper itself.

it should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deletingl/overwriting is not allowed. Do not use lead pencil.

Circle the correct option i.e. A/ B/ C/ D. Each part carries one mark.
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Which of the following banks is an association of international banks?
A Foreign bank B Central bank C. Exchange bank [ Consortium bank

The amount of capital received by a bank by providing shares to its shareholders s called

A Paid-up capital B. Reserve capital

C. Subscribed capital D. Authorized capital

Which of the following documents do the commercial banks issue to clevelop the foreign trade’?
A Credit instruments B. Prize bonds

c Letters of credit D. Shares

Which of the following terms is used for rediscounting of bills of exchange?

Al Bank rate B. Exchange rate C. Interestrate D, Market rate
Which of the following is NOT a function of the Commercial banks?

A Receiving deposits B. Issuing loans

C. Rediscounting of bills D Safe custody of valuables

For operating a PLS-term deposit the customer is provided with which of the following?

A Cheque-book B Pay-in-slip C. Passbook D. Term Deposit Receipt
When is the term “dishonour of cheque” used?

A If the bank refuses to make payment of the cheque

B. If the bank stops to make the payment of the cheque

C. If the bank delays the payment of the cheque

D. None of these

Which of the following is TRUE regarding the retirement of a bill?

A Payment of bill before maturity B. Dishonour of bill due to non-payment
C. Noting and protesting thereof D. Dishonour of bill due to non-acceptance
Which of the following bills does NOT involve trade dealing?

A Sight bill B. Time bill

C. Commercial bill D. Accormmodation bill of Exchange

Which of the following letters of credit is cancelled by the issuing bank without the consent of the
other parties?

A Revocable letter of credit B. Irrevocable letter of credit

C. Revolving letter of credit D. None of these

Credit creation is done under which of the following methods?

A Providing loans B. Discounting bill of exchange

C. Making investments D All the these

What is meant by the principle of diversity regarding loaning?

A Loaning only to those who can repay the debt at short notice

B. Loaning against some material security

C. Loaning in terms of repayment

D. Loaning to multiform businesses or individuals

What type of market is created by insurance companies, investment trusts, and finance houses etc?
A Money market B. Capital market C Exchange market D.  Credit market
What is the objective of foreign exchange control?

A To stabilize exchange rates B To increase government revenue

C. To promote Home Industry D All of these

Which year was the State Bank of Pakistan established?

A 1947 AD B. 1948 AD Cc 1955 AD D. 1972 AD
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BANKING HSSC-II

Time allowed: 2:40 Hours Total Marks Sections B and C:

NOTE:- Answer any nine parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your
answers neatly and legibly.

SECTION - B (Marks 36)
Q.2  Attempt any NINE parts. The answer to each part should not exceed 2 to 4 lines. (9x4=36)

(i) Define Commercial bank.

(ii) What is meant by Bank rate policy?

(iii) Define Scheduled bank.

(iv) Give four merits of opening account with a bank to the economy.
(v) What is meant by an Order cheque?

(vi) Define Bill of exchange.

(vi)  Write down any four characteristics of the Fixed Account.
(vii)  Define Mutilated cheque and Outdated cheque.

(ix) Write a short note on Cooperative Bank.

(x) What is meant by Diversification of loans?

(xi) Write down any four characteristics of good money market.
(xii) List any four limitations of Credit creation.

SECTION - C (Marks 24)
Note:- Attempt any TWO questions. All questions carry equal marks. (2x12=24)

Q.3  Define Central bank. Discuss the primary functions of a Central bank.
Q.4  Discuss the merits of opening account with a bank to the CUSTOMER.
Q.5 Differentiate between Cheque and Bill of exchange.
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